¥ERRES

KEXRE o A%
THALF—|AKE | BEE | mkiew [snvvn| @ KDE | fhE
(keal) | (g) (g) (g) (mg) | (mg) (g) (ml)

#E1400 1,400 |60(17%)|39(25%)(200(58%) 600 | 8.0 75 | 1,300 |*#R100e
_|mmio00| 1,600 |65(16%)|45(25%)(230(59%)| 600 | 85 | 75 | 1,400 |#smisos
ial o 1,800 |70(16%)|49(24%)[27060%| 600 | 9.0 | 75 | 1,600 #2006

%#2000] 2,000 |75(15%)|54(25%)(30060%)| 600 | 9.5 | 7.5 | 1,700 |%#mz50s

SR 2,000 |75(15%)|54(25%)|30060%| 700 | 110 | 7.5 | 1,700 |#smz00s
23¥&12000 1,200 |55(17%)|30(23%)|180(60%) 600 | 5.5 75 | 1,650 | #3#150g

| £3%&1400] 1,400 |60(17%)|35(23%)(210(60%)| 600 | 6.0 75 | 1,800 |#38200¢
=HR 2®&1600) 1,600 |65(17%)|40(23%)[240(60%)| 600 6.5 7.5 1,950 |£%300¢

300 1,800 |70(16%)|45(23%)|28061%)| 600 | 70 | 75 | 2,100 |2%:ac0s
gn [memmam| 1,200 |55(17%)|30(23%)[180(60%)| 600 | 55 | 6.0 | 1300 | X#Hs0g
(%ﬁﬂ%"%) msrsmzi400l 1,400 |60(17%)|35(23%) [210(60%)| 600 6.0 6.0 1,400 | *#&100g
(?g; |ssmmion| 1,600 |65(169%) [40(23%) |200(60%)| 600 | 65 | 6.0 | 1,500 | xsmrs0s

msszis0l 1,800 |70(16%) |45(23%) [280(62%)| 600 7.0 6.0 1,600 | *#k200¢

wa#z000l 2 000 [75(15%) [50(23%) [310(62%)| 600 1.5 6.0 1,700 | :k#R250¢

BRI | 1,400 |55(15%)|28(19%)|23066%)| 600 | 50 | 60 | 1000 | %o

R | 1,600 |60(15%)|32(18%)|27067%)| 600 | 60 | 60 | 1,100 | $icee
ERIRE 1,200 |55(18%)[25(19%)|190(63%)| 600 | 45 | 6.0 | 1,500 | 5%

ERA | 1,000 |50(20%)|20(18%)|155(62%)| 600 | 40 | 55 | 1400 [ B2

800 [45(22%)|20(23%)|110(55%)| 600 | 40 | 55 | 1.300 | S

5% | 1,200 |55(18%)|25(19%)[190(63%)| 600 | 45 | 60 | 1500 | 52
AWE | THW | 1,000 [50(20%)(2018%)|15562%| 600 | 40 | 55 | 1400 | T2

=53 | 800 |45(23%)|20(22%)|110(55%| 600 | 40 | 55 | 1300 | S2¥
___ |mm=a] 700 |33(20%)|25(33%)|88(50%)| 680 | 30 | 50 | 1,000
T e 1,100 |45(16%)|35(29%)|150(55%| 830 | 50 | 50 | 1,100




